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T ,ﬁ% 49 INERH 50. FEERE 51. BEERHE

| AN OAES B 4% JIEHE |4

=T 1 43 1 28 1 18
EFmH 14 6 9 5 10 1
7= 6 12 4 6 4 2
mEf 5 14 4 6 2 4
TES 8 10 13 3 4 2
JAlgTH 11 8 4 6 4 2
BET™H 10 9 4 6 4 2
TiEFKT 7 11 9 5 10 1
mA+THh 2 26 2 14 3 3
&Emmh 13 7 11 4 10 1
1l 11 8 11 4 10 1
BEHT 20 2 16 2 - -
=T AT 20 2 22 1 - -
EES ) 24 1 22 1 10 1
% HET 24 1 22 1 - -
PlAIIE s 24 1 22 1 - -
ERA 20 2 16 2 -

=rF 24 1 22 1 - -
ALLET 20 2 22 1 10 1
REMT 24 1 22 1 - -
T TErT 24 1 22 1 - -
yNIIESH 24 1 22 1 - -
LNOET 3 17 3 7 4 2
=€) /T 17 3 16 2 - -
bt {ZHT 15 4 13 3 - -
£ )| BT 15 4 13 3 10 1
Fagsiliing 24 1 22 1 - -
EIRET 24 1 22 1 10 1
HE# 17 3 16 2 - -
FEETET 17 3 16 2 - -
/a5 + BT 4 16 4 6 4 2
XA 24 1 22 1 - -
=FEH 24 1 22 1 - -
Esyilig 8 10 16 2 10 1
= 5E 233 131 46
ER SHxESATH SHITTFESA1H SHITESR1H
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2| B [ A JBGE (A (& =Y) | IESR [A

EEIGi 1 16,466 1 383 1 9,500
EFmH 14 395 19 66 15 176
7= 10 699 22 58 8 435
mEf 2 2,317 5 166 2 1,055
TES 5 1,179 11 118 6 478
JAlgTH 9 849 12 106 5 567
BET™H 7 944 13 105 9 411
TiEFKT 13 421 31 38 13 240
mA+THh 4 1,564 21 60 3 866
&Emmh 3 1,719 2 246 4 720
1l 6 1,105 8 138 7 474
E3Ed0] 30 57 32 29 29 28
=T AT 26 114 23 57 27 43
H EFET 27 95 14 95 26 46
% HET 28 81 17 81 34 15
bldllEs) 31 51 27 51 31 22
B 32 47 33 24 32 19
=rF 20 172 4 172 21 89
ALLET 25 128 20 64 25 58
RKERT 29 72 18 72 28 33
T TErT 22 161 7 161 22 70
KINF+ 34 14 34 14 33 17
LT 8 913 25 54 10 399
=€) /T 23 154 26 51 22 70
bt {ZHT 18 228 23 57 16 127
51| BT 12 536 9 134 12 277
Fagsiliing 19 192 3 192 20 95
EIRET 24 133 10 133 22 70
BE& 17 248 16 83 18 108
FEETET 16 266 15 89 17 120
/a5 + BT 11 645 29 40 11 351
K BHT 21 163 6 163 19 98
=FEH 33 42 28 42 30 24
2T 15 384 30 38 14 200
= 5E 32,554 140 17,301
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=g FRERFE ERERFE FRERFE
HFT BRET DR BIRET DR B#HEtomR
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S— ¢§; 55. ik 56. EEPRERK %_7 RE-RRFEE
| CANECEPNGEET A I FAPN EHE (%
=T 1 339 1 11,425 2 57.4
EFmH 26 35 14 109 10 215
7= 12 73 8 376 3 56.6
mEf 3 176 2 1,841 8 32.1
Ti&E™H 4 159 9 235 15 15.2
JAlgTH 9 95 3 1,215 1 58.2
BET™H 15 69 5 606 14 20.8
TiEFKT 22 48 10 137 9 32.0
mA+THh 16 62 4 898 4 55.7
&Emmh 2 180 15 107 18 8.1
1l 5 119 7 379 7 32.9
BEHT 33 14 - - - -
=T AT 24 43 - - - -
H EFET 23 46 18 66 11 25.0
% HET 32 15 - - - -
PlAIIE s 30 22 - - - -
B 34 10 - - - -
=rF 11 89 - - - -
ALLET 19 58 17 80 5 55.0
REMT 28 33 - - - -
T TErT 13 70 - - - -
KINF+ 31 17 - - - -
LT 20 57 6 388 17 9.3
=€) /T 27 35 - - - -
bt {ZHT 25 42 - - - -
& )11 BT 10 92 13 123 13 235
AN ET 8 95 - - - -
EIRET 13 70 12 127 6 48.4
HE# 21 54 - - - -
FEETET 17 60 - - - -
/a5 + BT 18 59 11 135 11 25.0
XA 7 98 - - - -
=FEH 29 24 - - - -
=il 6 100 16 96 16 10.0
= 5E 132 18,343 49.3
ER SHxESATH SHITTFESA1H SHITESR1H
=g FRERFE ERERFE FRERFE
HFT BHEt R Bt BE#ET TR
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A 2 58. NREEHH 59. MZEEH 60. ABEEH

| JEfL |EE Bz B8 JIEfL |EE

=T 1 40 1 8 9 3
EFmH 12 3 9 1 17 1
7= 2 19 9 1 4 5
mEf 3 14 9 1 4 5
TES 18 1 2 3 17 1
JAlgTH 7 7 9 1 9 3
BET™H 10 6 9 1 9 3
TiEFKT 18 1 9 1 17 1
mAE+mH 7 7 4 2 13 2
&Emmh 4 13 4 2 9 3
1l 4 13 2 3 4 5
BERT 15 2 9 1 17 1
=T AT - - - - - -
EES ) - - 9 1 17 1
% HET 18 1 - - - -
PlAIIE s - - - - - -
ERA - - - - - -
=rF - - 9 1 17 1
ALLET 15 2 - - 17 1
REMT 4 13 - - - -
T TErT - - 9 1 2 8
KINF+ - - - - 17 1
LT 7 7 9 1 13 2
=€) /T 15 2 - - 13 2
bt {ZHT 18 1 - - 7 4
£ )| BT 18 1 9 1 13 2
Fagsiliing 10 6 9 1 17 1
EIRET - - 9 1 3 6
HE# 12 3 9 1 - -
FEETET - - 4 2 7 4
/a5 + BT - - 4 2 1 9
XA 12 3 - - - -
=FEH 18 1 - - - -
2T - - 4 2 - -
= 5E 166 39 75
ERX FRRI0EE FRRI0ERE TR 30EE
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HFT B HETH R ELER E BT IREER B BTH R ELER




